Set 2

Hreatas farem aden

(Secondary Education Examinations - SEE)
Compulsory Science

Time: 2:15 hrs F.M. 75

@ ™o oo

Group - A
TeTeT geEsd glal IaT Rqeigq 15%x1=15
Give short answer to the following questions
TEATHYT g (Y &7 % 33 FREF Icdes Aelerq |
Write any two factors one which gravitational force depend.
qHG FASHT APHUSAT FATIHl HTH TETald |
Write the value of atmospheric pressure at sea level.
et ot B g IAEVEE [GTE |
Give any two examples of radioactive elements.
b AR T, A5, THs A€Teld | Writeits SLunit of power of lens.
fefeg of= W=l & & ? What is heating clement?
Hegfaver! Ufediies MaH d&Tei@ | State Mendeleev's periodic law.
JISIME AFART FeaAlal IaTee® 1aqeid | Give two examples of organic acid.
TeH[HIHET GIHTUGE FEIT ¥ GRHTU{de% AR dedard |
Write the atomic number and atomic mass of aluminium.
it a el & &1 2 What is saponification?
TATETAT qTed g8 F<ThT TN [FEEd! 70 dETery |
Name two types of silkworm cultivated in Nepal.
T T GUTATR] Geellcl ANTEE dheb & 7
What are the two parts of central nervous system?
AT TRIHT ¥k TS IATaT T+ STl ATH delerd |
Write an organ that produces uric acid in a human body.
S =kl & & 7 What is gene?
RiddATgsad dfeg fas ¥ werAT aRadd g7 hadl AREwd ¥ d&iad |
Which parts of'a flower change into seed and fruit after fertilization?
ARTE qHIT ATABT THHI & &l 7 What is geological time scale?

Group 'B’ 13x2 =26
TEcAad T ECATATT A F qe4lal FRhes delerd |
Write any two differences between gravity and acceleration due to gravity.
TARETE T qTeaT 9T (9T qgwid aedl IaTed Aiel gvg, d% 9Tl aifeR el
g7, [l 7
Why is it easier to pull a bucket of water from the well until it is inside the water but difficult
when it is out of water?
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feafieel JHITHEIATS I dTIHH HIAHH AT HgHl faqde, & 7

It is given jerk before being used to measure temperature again of a clinical thermometer,
why?

FANHE SAHT bl (AT HARAE TS oI TRUH gweg, [oh 7

Why is the inner wall of a fluorescent lamp coated with fluorescent powder?

U9 VIL Bl TABEATS (b garsT=q Al 7

Why are elements of group VII called halogens?

STIREH! TETIdT &l g4 U3al TAAE FArharel Fqidd AHEe Tetard |
Write a chemical reaction which is carried out by catalyst with balanced equation.
THIAATRT BT TIST FHART Aeebredl &l, {eh ?

Solution of ammonia is a weak alkali, why?

AHE SERHAT TARSTH Teaa] Hed ATl |

Write two importance of glucose in human body.

T TS IRl T 9973, 67 7 Why silkworm is called queen of fibre?
IRl TG ¥ HIaY TAIATH TeaATdl Fihed ACTerd |

Write any two differences between sensory nerve and motor nerve.

SIS favgTd WUH! AfhehT . TSN AANEE G |

Write any two characteristics of a person suffering from downs syndrome.

qﬁ'ﬂﬁ‘l’ﬁﬁ g‘é’ﬁ'ﬂ HEcd «&Te ¥ | Write two importance of variation.

TSSART ATTHT TRT B3 |7 I TTgeh! JeTdT kel goaATal vl [Gerd |
A comet is not actually a star. Give two reasons in favour of this statement.

Group 'C' 6x3 =18
feguel Foraers IR Y|l | @if=T 90

THET | Sl ATHITPT ZATIT (TITATRT TT

TSl IIANTAT I ool TR | B
Redraw the given ray diagram and %
complete it. Also write two natures of the A OF F 0 F 2F

image formed along with its one

application.

T AT IFARHALEH! (o7 TATE F T8 AEEH] ATHTRI TR |

Draw a diagram of a step up transformer and mention its any two parts.

THIAT TGl ATHINTE IATET a9 Ay 7 JATAME FHIHI] Jigd
TETerd |

How will you manufacture of ammonia gas on industrial scale ? Write with balanced

chemical equation.

FFISE HA FHIA aATe7g, 7 a0 THerd | How is compost fertilizer made? Explain.
AAT B Fed (RR) T Al B Ford (rr) BASH A=A g q78=d T 9leg
A TRIAT | qfedl T AT ATHAT FEAT-F&dT TTH Bl g1 WIS HT [oeaess

eprga ¥ [ 7 Amaea® =9d TR 9 JeTerd |
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Pea plants with red flower (RR) and white flower (rr) are cross pollinated first then self

pollinated. What will be the colour of flower in first and second generation of that pea plant
and why? Write with necessary chart of filial generation.

AT YU AARTITHT SAideh [aeTardT Fadl amer e, 7 sAredT Tery |

How does air pollution inhibit biological growth of plants? Explain.

Group 'D' 4x4 =16
qrl AT IFI FF BT Tag ¢ fera gied samer TR |
How does water pump worked? Explain with diagram.
T [TSURT BT IHEd ATAATCHE IF ALTAT TR (8 JeAeedhl Ia¥ eleld |

Study the structural formula of the hydrocarbon given below and answer the following
questions.

(i) a1 FNTFHT ATH T UGS AT |
Give the name and molecular formula of this compound.
(i) I9RT ATHTT G d(eTaiy |

H H H

I
H-C-C-C-H

I
H H H

Write its general formula
(iii) YdF  HETAE U3 glgslad  8CIUR  UJdI
ETSSIARIES & g AT, AW T IREATgA
TETed |
Write=the-name and structural formula of compound is
formed if one 'H' atom from each carbon is replaced by one
'OH' in each carbon?
(iv) - T T ARkl TIST ITANTAT A&y |
Write a use of the compound thus formed.
e feguer foaet U# fa9i gERET T AT fAarer @ A9 s
TGITH G |
The diagram below represents a certain category of blood
vessel showing the role of a special structure in their walls.
(i) ForarHT SETEUHT Th TAlhl JTHR deTard |
Name the kind of blood vessels shown in diagram.
(ii) THAl (9T T@IITHT F=AAT & B & ?
What is the structure shown inside the blood vessels?
(iii) A1 foa9Iy FR=FAEER AHE & § 7
What is the role of these structures?

Direction
of flow ofy

5 \
\ blood \
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(iv) & & 999 ATFReE AT FHT THERFT THAAEEAT g d 7 AG o

A AqTH ey |
Are these structures present in any other kind of blood vessel? If so, name it.
JATR ATATERIAT AT T (7 FIES Tal aRMeT | FFafead  ardravore]
ATTHRA 9e5 B | STISREEH Agell Ude § | HMaes Wdiarg T STATHl =
STET AT T TZRehT S |
HITRT THT ATIRHT 6T Y9l Tk faerd |
Following are the findings in a study done on the earth environment: The temperature of
respective environment is increasing. The number of amphibians is decreasing. Human
beings are suffering from cataracts and skin cancer. Answer teh following questions on basis
of'above facts:
(i) wfa AfgUerT TEEERI HIRUT & Erar ?

What is the cause of above finding?
(ii) AT aeTaTe TWIAT ed & TS, ?

What is to be done to remain safe from above conditions?
(iii)  AfTEerT TATET 99 USeT T T AT |

Write its one more harmful effect to health.
(iv) I FFEITHT ATArEid dIHaAl & J9R 9GS, 7

What happens to the environmental temperature at this condition?
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Set 2
Marking Scheme

Group 'A’
la (i) & 3Z T&EeH U 0.5
(i) TEETRT beg G AT=lehl TAT 0.5
105pa 1
(i) WA= 0.5
(i) weIaH 0.5
AT (D) 1

qTT ITFEEHT faea aTfaaars A% FAT<R T FARL IR dRdTs (6fdg gerde
A | 1

“TEEH HIAE T AAAE [0 [qafesd] TRATIGE ARESH IRANSH

Y g 1

(i) @Elc® Tas 0.5

(i) THfa® Tfas 0.5
qYHTOfIE TET - 13 0.5
AT R - 27 0.5
FAETH! T AT AR ATATATS ATAT TAIPAl IRTCR FTad IJcarad T
giRaTaTs ARITAfRETT 9= | 1
(i) &% 3w B 0.5
(ii) T ¥|H BT 0.5

(i) wiEqT® (Brain) 0.5

(ii) gYFT  (spiral cord) 0.5
P (kidney) 1
STFEweP! ATATATh. U T, F9T ATE AT FTHT T HIHTGE [qT WEH TAATS
Fmoy A= | 1
AT -3 0.5

AT - e 0.5

T3Sl FHA ANART THA ATl ARl IAId IR aqq= G0 T8 q30 158,
TS HTTeTeh THT dATeAehT i, | 1

Group 'B’
TEcATT TEATTAT

(a)F TN TS T ATRAT | () TATHT  qaAgiay = @d= &l | 1
FR(AY AFY TH oA AR @Eed] TEQHT [oed adqd TaT
T&cd a2l | S & FaT bl TEcdqai al |

(b) T HIROT &l | (b) AT AW 2 | 1

QAT dled] dgrald QAT (6d Jea=mgd dlfedTd ] dFes | gl fed

JEA=TS el dlfedd IBST FH dARl ATATRAT Jag I e Jolod
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ARAAT &7 | T ST(ER eTaTehl JEA=T " gvg Aded &l alfead FaTed 42
A IT I g7, I ST Tl & | 2

foAtTehel THITHATH! HeT TAHT Tealdqy AT ALl TATSUH &7, | THIHEATS
farTeirept TGl a1 FAGTHIT TERT ATTHHPT Fhgel TaT T ARTAET THITHITHT
TAMHT FgE a¥ dTThT Udal Fehl TR Toddl ATHRIATH Heb? ATISr T
T Abl faRTHIRT ATTHRA AIIT TH IlhSA gl qRIATE I TeaAl HehS

4 ZET g fa 16T | 2
S FARGE TR Hbd TRHANEET  SdaTewdl [BHigHT  ealvargad
[FUE® RIS, Al [FUEE HalRdrd ISeHl TGS | Ta0 AedlvaTsdd

fFUE® Ith AU GISEYHT I&T &7 Afeh [0l (visible light) AT gfora

T | 2
T VI A F1 Jcdese e FaeRar T q697 (Salt) STATSIST | FIT T
VIIA TEEEATs gare A | 2
2H,0, _MnO: , 24,0 + 0, 2
THIIH BTSSIaTES IHTHT Hieal 917 HTATHT glgsiedaTss (OH-) ATTHe®
fam | Tl THIAH ETgSIeRIgs USal AR Jehrell &l | 2
(a) IT AT RHAT Aichebl A1 &l | 1
(b) TH AT IRITHT HTAITAsHH! A=Al HecdqIu F1Y T, | 1
9T foperare fAeh T 8% AT, afed, Al Fa T Il W GIET U
TATs ARIESH AT A, | 2
G &Y Hia &g
() IFA  =AAT AR ((2) TFA A AT YT A& TS 1
HiETShaH 13", | A =TT A8 |
(b) AT TIEE 9 B | (b) i TMIEE &% B | 1
(a) @l F9 Aledsd!l |l T Tl T3H g7 | 1
(b) F=r1 WRepl S&l T &ATeT gl HE &7 | 1
(2) TG TTRT B TR AT TAT AGEETR] I & | 1
(b) T Sdewdls aRafda ardraRurHT dEAdl Iad 16, | 1
(a) T53 TRTHT ATHRAT TS S | AT TR TS a1 ATTRAT ATHE
=ATFpell fEwg | 1
(b) Ty AR FAATS ATFATRT HUSTHR HETHAT TRHHAT T, | 1
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Group 'C’
B Convex lens
éi . N F Al .
A 2F F O S OF
£
5,
1
(a) FATEAld® 0.5
(b) Jedl / AXqHT ATl 0.5
AT HIET TR RTHTAT FART TG | 1
=2
ATHISH T = 1

THITAT ATAATs AIEANTE FTHT FEAaT A1 97 ATgarei= T 3 9N aTggo
ATE 500°C ATTHT T 250 Atm ATTHT. HeATHH! gAlS SUE T HiegTHq 18

GIHIEY 1 FTHT TN AR @rAtas Giafear Re Faaed T, | 2
Fe/MO
500°C/200 Atm.
FFITSE HA TATSAB] AT hBfed AT AAEAITE 3 qEqe® STl i [audrep

qIde% B JTsee, HADAHRl dhles, ANEe HdATsal Ul ad
qIUfIETRe®, ™l @aREs ¥ M HA T Feqarsgsl Taqaeedl Fan
Mg | FHTE A FATIT AT e (@ TEqE®ATS 5 m ATHI 1.5 m =STE T
1.5 m TfeYT @leal @Al I9HT Sth d&(gwdls radl Had gIede | T8 Ih
TEE® dede UGl 3 - 4 AiedT SIS Tas | AIEMT HUH ATHNAT T Hrallod
STh aEAEEAls HETSasA T 3 - 4 AfedT 9fg FFe A IR & | 3

N, + 3Hs 2NH; T 1
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X

Hﬁ Hﬁ“

R T T
1
— R
IR
(100% TR AT TEreT)
T R
o — S S
(ﬂfsljﬁ) (mw) (Ts &)
° 50% 25%

qfedl FTHT 9o AT g7, [eheAieh TG Tael T AT JeA&T T[0T &7 e fob <14 a9ra
T3l F AN, T3l A dal ¥ Tdel auetae (foHmen Aar g, fFae @me
(Gamete) =T S(AB&H NRYT & | 1
20. AT WIS YA g1 AT YRITH fTAAAT o ATST | TAT G TeHITHT
faaaraT FHI €37 fa@aTehl YTaesHT Jeehl ATl [G5e (TEHTl) AU Gord
TS | TEel &7 ITARTT g9 HIATHT FIEe STHATIeE 1 A9 qrSed ¥
TR FEAYY GERATAT AT @ET g | [or@arel @Al aarsd Fdad STaeh!
afeoT ARy, faearer difqs Tratat 2 faerear aEr @ ) 3

Group 'D'

21. 9T a1 IFIHT 5 W 878, ST9dls AR ¥ & A | &Rd T [eeTHl
ZIHT UQEl UFAT oW g9 | UGl Aod [Ra=ul gwg 99 ol 9od v2
RAHT TIH &7 | o TAEEd ATAT bThl FH TaSH | T JIHIeATS
Ity Ared favg, TR T« ®ie K& ar arr e 38 BRuTes g Saerg
FHIM AT Wl ¥ SIS Wb A | 1
a9 T TVl gATeddrs adiaR fa=ar faees arfafar qrii=g T 9o vi T
g | fUEed APl SRR ARTAT =T FHH g | SATHA HiThl qTAh GAaH]
PRaTelie aAvSHT = 9IS 9Te9sdl el T Hed vy dlg JNgfaR
Tbes ARATTT (AT | 1
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Outlet

Piston valve(V1) Piston ——=&—"Piston valve(V1)

— Footvalve (V2)

-—Footvalve (V2)

1

SISH Wik TFIHl garveddrs dafay dr=l fuded qaiar S, faees Afe
AR ARTHT Teehl IR =T Hod vy a8 875 a3 Hed vi God | o9
el fUees A9l SAd ANTHT 9 ST | 99 [UReders O 'y amees

gFal fUzas AT SRR ST AUHT ITHT TEMEre a1 Hehesg | 1

(a) AT FRTHRT ATH IO (propane) B | THhI AUIF CsHs BT | 1
(b) CnHznt22T | 1
OH OH OH
| |
(o) Fea=rer (glycero) H-C-C - C -H 1
b
(d) IT =Fie a1 faeme i Il AN GANT TS | 1
(a) BT 1
(b) AR T 1
(¢) TTA TAAS T3 [GAqMHT a7 Hed Mes ¥ IH: HipAde AHRS | 1
(d) &S | TSIl T GeHIAL oAl 1
(a) TFHLFBRF qcA AT dehl qA Bl | 1
(b) IS dedrs TET A&l CFC, CO, €Oz, N,0 (ATSZH AFTSE) CH, ATTEeh]
STIEAHT T AMIAIGS | 1
(c) THH FRI HIFAHH AT T7 @RE qAEw AN (R &qar Jga
g T AT AT YUTCATHT HebRTcHe J9R T, | 1
(d) ATATERITR] ATTHA A5 & TREH! B | 1

~0O~

OCE



